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Using Slope and y-intercept
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v, B & &
“% Fred, Shaggy and Scooby are hired to

find ghosts. Each ghost hunter charges
a different rate. These graphs show
how the cost is related to the number

- N @ of ghosts caught. @ @
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The 3 graphs below have these equations, but t
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he graphs are not in order:
x+ty=7 y=4x -2
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The 3 graphs below have these equations, but the graphs are not in order:

y=2x+4 Xx+ty=7 y=4x-2

Graph A

Step 1) Use the three equations to determine the coordinates of
the graphs.

Pick x=0, x=1, and x=2 and sub into each equation

y=2x+4 Xx+y=7 y=4x -2

Substitute: x=0

one point: ) one point: () one point: ()

Substitute: x=1

Substitute: x= 1 Substitute: x=1

one point: () one point: () one point: ()

Substitute: x=2

Substitute: x=2 Substitute: x=2

one point: () one point: ()

one point: ()

STEP 2) Match up the graph that has .

STEP 3) Match up the graph that has

STEP 4) Match up the graph that hat
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The 3 graphs below have these equations, but the graphs are not in order:
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If you always rearrange first x| y
4

Y=3x+7

1| 10
2 | 13

The number in front of "x" in the equation represents the slope:
Slope: (how steep a line 1s)

What we notice: when x increases by 1, y increases by 3

change iny I o changenRISE
Change NX <« change in RUN

Slope =

Thus

Slope = i =3
1

What does this graph look like?

click to see
&1
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pick an x value to sub in

Pick the correct equation

a)y=-5x +6
a_-5 (o,4)
Aax |
b) y =3x +6 \
& _ 3 (o, b)
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